ohg ol A Foll A o] A4} The st

@x2+3x+3:0 @ 3x2+2x-10=0
® 3x2-6x+1=0 @ 2 +2x—-4=0
® (x-2)2=3

D D=9-12<0°]22 57} gt
vpei2] B she] A4k 2 elut.




Cha o2 A FollA A= vE F 78] 22 2e A2?

=i

D x2-2x4+1=0 @ x2-6x+9=0

® X2+x+2=0 @ x> -4x+5=0

@x2—3x—|—120

B

OD=(-2)2-4x1x1=0: &
@D=(-6)2-4x1x9=0: %
@D=12-4x1x2<0: o] g},
@D=(-4)%-4x1x5=-4<0: 0] it}
®D=(-32-4x1x1=5>0: A2 TE T Z

rlri




=2,
=
<
2
>.<l\3
+
.\<l\3
1o
=
ftlo
oy
ol
2
ic)
[t
=
#
<

2-x-y) - (@ +y*) =4,
xy—2(x+y)=0, (x-2)(y-2)=4

-2 1 2 4 | -1 |-2| -4
y—2 4 2 1 | -4|-2|-1

kA x? +y? = 32 + 62 = 450t}




4.

OJ AL A X% + 4x -

n<a<n+1-2Es}

e =

> E:

> Het: o

0
B9 e T

B

X 4dx-1=09 F T2 x=
a=FFolBR2 a=-2+ 5
0<-2+V5<1

n=0

-2+ 5




O| AP 22— 6x+ (a—1) = 0 9] A& T2 T Zo] RE A

5% she 494 o P BT 57

O 13 @ 14 ® 15 @16 ® 18

¥ -6x=-a+1,x*-6x+9=-a+10, (x-3)2 =-a+ 10

x-3=xV-a+10,x=3+ Vi0-a

5 o] A4 =W 10 - a 7} AlF57F Holof stz
10-a=9,4,1914a=1,6,9

et aBFES] 21+ 649 = 16|t}

B ~




6.




AL 2 4 ax +9b = 0 0] F2& 744 1], 4 9] o] A7}
SEE p o) % ASHT Fh ol o, a o] LY (Fa.bE T
Aaje] AA%)

O 18 @ 27 ® 36 @ 45 @54

B |

x?+ax+9b=0°] 3= 7 HH

D=0, a2-4x9 =0

. a® = 36b = 6%b

w2tA] b = AlFgololof sk, b 7F YL o o 7 X7}
Hrt.

T 2pe ] A4S 5 7P & AlEae 81 o] 2= b =81 0|t
L a® = 6% x81 = (6x9)* =54

~a=54 (" ate AAF)




D=(a-1)>-4x3(-a-2)=0
a®-2a+1+12a+24=0
a+10a+25=0

(a+5)2=0

S.a=-5

o] ], 3x> = 6x+3=0
3(x-1)2=0,x=1




MPAAL (2-x—y)? - (3 )?) = 12 WEFHE A5 A (x, )

off tigte] x* +y* o 2HgkE Foto=t.

[¢]

[ 2
> &b 109

Fo1X1 A& ANste] FEIoHH, 4-4(x+y)+ (x+y) 2= (x2+y?) =
12,

—4(x+y)+2xy=38, xy-2(x+y) =4, xy-2(x+y)+4=238,
(x-2)(y-2)=38

a9 x, y = BolBR,

-2 1 214118 |-1|-2|-4]|-8
Yy—2 8| 4| 2 1 (-8|—-4|-2|-1
2’+y* [109| 52 | 52 {109 37 | 4 | 4 |37

wabA 22 + 2 o] RS 109 o],




OIAPIAA] 42 — (k + 2)x + 4k = 0 o] T O] = ThE H5
Z]

=] =
OHE'.

SR ) F AFTE 0f (o % B) 7 5
a+B=k+2---O©

af = 4k---@

DOx4-@34

4da+46—-af =8

(a—4)(B—4) =8

a—4 1 2148 |-1|-2|-4]|-8
B—4 8 | 4 2 1 |-8|-4|-2|-1
a b) 6 8 |12 | 3 2 0| -4
B |12/ 8|6 |5 |-4|0 2|3
af 60 | 48 | 48 | 60 |-12| O | O [—12
aff 1512|112 [ 15|-3| 0 | O | -3

whabA k o] 7k9] $HE 15+ 12 4 (~3) + 0 = 240},




11.

o A9 & Fstodet,

3+2V3+12v3 123+ -
» g
D= )

X -10x+9=0
(x-1)(x-9)=0
L x=1EE=x=9

L x>30]B2 x=9




12. 945he 3709 o] 848 AFsk] H@ Al 251 2 u,
She Al 848 Totole

> E:
> &

0
1L
~J

v V V V¥
0
m

0
o

11

ol A

g

B

A&oH= Al 48 x -2, x, x+2 2L 54,
(x=2)2 +x% + (x+2)%2 =251

3x%2 +8 =251, x = +9,x >0 °]B& x = 90|},
s AES= Al 2 7,9,11




